0.05]

-0.05

|
I
s

-0.15

-0.2]

Ratio

< 00, > (M)

RatioI

<opyp, > ()

<d @> (rad)
o
=
a1

x107°

0.5

LI L L L L L L L LB

w

2

3
TP n (PCA to beamline)

o
[N

A C b H I
s f : (|
6 0.15----- M- -
o = ! . :
el C ! :
v 0.1 SRRt YR Y[ ;-
0.05F -+ SRR BRI ;-
OF {T BT -
~0.05F-+++1 SRR (I 3
_015_ ...... EL!. ..... -
-0.15F - O N ERRRREs | AR
) PP O S A |/ P | T [

-1 0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__CMSSW_ckf__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mKFitOriginal__RECO

100

A OO @
o O O

20f]

2

0 1

2

3

TP n (PCA to beamline)

= 100

=
O
o

=
TITTTTTH Ty TT

RatioI
P
a1

1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


